| can identify an equation from a graph.

To Write an Equation from a Graph:
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3) Identify the constant of proportionality and write the equation.
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Review:

1) Car Adrives for 9 hours and travels a total of 432 miles. Car B drives for 6 hours and travels a e
total of 282 miles. Which car has a faster average speed? A = qu‘,;// G= 4R P N /,/' C AR
B= S8/ = HD mp‘\

2) Stanley works from 8:15am until 3:00pm and ear 00, What is Stanley’s hourly wage?
i‘&'l/ @IS ne=(¥% (9D pLe hour)

3) Which team below has the lowest loss-to-win ratio?

~Basketball

3:1S
Football 3y

Golf B _—
Softball 218  (Sot+bal)

4) What is the equation representing the table below? What is the missing value?
m 3 4.5 9 27 ?
v 8.4 12.6 25.2 75.6 117.6

Equation: VZ3.¥m Missing Value: g




